S l G MA Spur Gear Specifications

Focus Ring Iris Ring
AIZU PRlME 4Omm T] 3 LF Number of teeth 128 124
Module 0.8 0.8
PL Mount
P.C.D 102.4mm 99.2mm
Angular rotation 270° 70°

128.8 17
48.5
8.1 66.5
SF-61 5.4 30.3
2x[M3x8] _\
RS =2 ‘
e j
=2
— 10,1
o 3@]1511 §
- E
36‘711 FRONT
DIAMETER ||
g1 95 mm
PA?RE%R}HJE = S i
N =
= | ft T
8 - - + — = O ———— —— — % - — - -
'e' 4@' :91111 — 3@ ~
e " o
T1.3 ﬂ 2 , 2
- = 15
= Gl 10" 2.8 u H
&' 43 |
SIGMA 3
L, e o
5'= 53 ]
© 4'6 = 113
4= 16 =
L <,1 §:gijl bz
SF-61
2x[M3x8] —7
144 3/8
- —
UNC1/4-20 — |
UNC3/8-16 — T | 142 ! 80.4
2 T
29 72.6 /mm
scale 1:1

Ver11 July 2025 ©2025 Sigma Corporation



S l G MA Spur Gear Specifications

Focus Ring Iris Ring
umber of tee 28 2
AlIZU PRIME 40mm T1.3 LF rumberofteen ‘ =
Module 0.8 0.8
Sony E-mount
P.C.D 102.4mm 99.2mm
Angular rotation 270° 70°

162.8 5.2

8.1 100.5

SF-61 54, . 64.3

2x[M3x8] _\
pes

I

C T =
C® —
il =
@ oL, = §
— _— .
-6t moN e | S
8,1 = |
AlZU ‘ IMAGE =
PRIME o= 13260
= T b
2 i 1L =l =1 11 _ | __oll.
© = o
o , _
Tﬂoz :i‘ HSV § 1 SE
:Sﬂﬁv ﬂ@v =08€ |
8'= = | 49 =
SIGMA % = P
Ly 6= ED.@E |
5 =
© 4’6 = = 11
4= 16
<, ge= -
SF-61
2x[M3x8] —
114 3/8
UNC 1/4-20 —
UNC3/8-16—//; 142 | 114.4
29 106.6
/mm
scale 1:1

Ver11 July 2025 ©2025 Sigma Corporation



